ouprwNE

guides.

~

TRAILBGSS

Towbar Fitting Instructions
To Suit MAZDA MPV 9/99-ON
Part Number MAG2
Rating 930K g

Ensure all hardware items have been included.

Remove spare wheel.

Remove shipping hooks on each side, retaining six bolts.
Align towbar with horizontal shipping hook holes.

Fit six retained shipping hook bolts with spring washers supplied semi tight.

Making sure towbar is square to vehicle, drill two 11mm holes using centre mounting tabs as

RECOMMENDED ASSEMBLY TORQUE LISTING

Diameter Grade 8.8 Bolt

M6
M8
M10
M12
M14
M16

Nm
9.5
21.7
43.4
77.3
121.0
189.8

THE WORKHORSE OF AUSTRALIA’'STOWBARS

Remove rubber grommets next to centre mounting tabs. Fit bolts on wire through holes. Fit nuts,
spring washers and tighten all bolts to torque listing.
8. Refit rubber grommets and spare wheel.

Issue Date 21/03/03

N

~




TRAILBGSS

Towbar Fitting Instructions
To Suit MAZDA MPV 9/99-ON
Part Number MAG2
Rating 930K g

2-M10 X 36 BOLT, PLATE (26 x 6 x 32)
& 150 WIRE
2-M10 SIWASHER

g 2-M10NUT

6-M10 S/WASHER
&
1

@\‘
NN
NN

-
@\ Z
NG

\Z-M?B x45 BOLT

2-M16 S/WASHER

\ Page 20f 2 THE WORKHORSE OF AUSTRALIA'STOWBARS | ' Sve Date 21/03/03

N




